

2010 -		
10 - 8 :	:	3 :

( 5 ) :

1998 (1)

:  $\mu$   $\delta$   $b$   $a$  (2)

$$(I) \dots \begin{cases} \delta + \mu = 1998 \\ 27 < \delta < 54 \end{cases}$$

$$(I) \dots (\mathbb{N}^*)^2 \quad (a;b) \quad ($$

( 5 ) :

$$(I) \dots Z^3 - 3i\sqrt{3}Z^2 - 9Z - 21i\sqrt{3} = 0 \quad \mathbb{C}$$

$$(I) \quad Z_2 = -i\sqrt{3} \quad (1)$$

$$(I) \quad \mathbb{C} \quad (Z^2 + aZ + b)(Z + i\sqrt{3}) = 0 \quad (I) \quad b \quad a \quad (2)$$

$$D \quad C \quad B \quad A \quad (\mathbf{O}; \vec{i}, \vec{j}) \quad (3)$$

$$Z_D = \frac{3}{2} + \frac{1}{2}i\sqrt{3} \quad Z_C = -3 + 2i\sqrt{3} \quad Z_B = 3 + 2i\sqrt{3}$$

$$Z = \frac{Z_B - Z_D}{Z_C - Z_D} : Z \quad ($$

BCD (

( 10 ) :

$$f(x) = x - \frac{e^x - 1}{e^x + 1} : \mathbb{R} \quad f$$

$$(\mathbf{O}; \vec{i}, \vec{j}) \quad (C_f)$$

$$f(x) = x + 1 - \frac{2e^x}{e^x + 1} \quad f(x) = x - 1 + \frac{2}{e^x + 1} : x \quad (1)$$

.  $+\infty$   $-\infty$   $f$  (2)

$$\cdot (\Delta_2) \quad (\Delta_1) \quad (3)$$

$$\cdot (\Delta_2) \quad (\Delta_1) \quad (C_f) \quad (4)$$

$$\cdot \quad f \quad (5)$$

$$\cdot \quad f \quad (6)$$

$$\cdot 0 \quad (C_f) \quad (T) \quad (7)$$

$$\cdot (C_f) \quad (T) \quad (\Delta_2) \quad (\Delta_1) \quad (8)$$

$$: \quad (C_f) \quad (9)$$

$$\cdot \quad y = x + 1 \quad x = 0 \quad x = -1$$